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Part -1

Answer any three of the following questions : (14 x 3)

1.

A N

Explain the main features of Indian agriculture.

Explain the importance of cash crops in Indian economy and give information about
any two cash crops.

Explain the pattern of Industrial Development in India.

Explain the development of textile industry and its problems in India.
Transportation keeps any region alive — Explain the statement.

What is population density ? Explain the factors affecting population density.
Critically evaluate the Indian Population Policy.

Explain the importance of petrochemical industry and its development pattern.

Part-11

Choose the right option from the questions given below : (Any Four) 4x2)
(1) Whatis “Beewar” ?

(a)  Shifting Farming (b) Cash Crop

(¢) Local food crop (d) None of these
(2)  Which revolution is important in terms of agro-production ?

(a) Blue Revolution (b)  Yellow Revolution

(c) Green Revolution (d) Pink Revolution

AP-109 3 P.T.O.



3)

“4)

)

(6)

(7

®)

AP-109

What is the ideal temperature for a Paddy crop ?

(a) 24°C (b) 30°C

(c) 15°C (d 12°C

When was the first industrial policy formulated in India ?

(a) 6™ March, 1948 (b) 6™ April, 1948

(c) 6" March, 1956 (d) 6™ April, 1956

Which is the main centre of Indian Jute textile industry ?

(a) Howrah (b) Guntur

(c) Raigarh (d) Kanpur

When was the “Green Highway Policy” launched in India ?

(a) 2014 A.D. (b) 2011 A.D.

(c) 2018 A.D. (d 2015A.D.

Where is the headquarter of Western Railway located ?

(a) Gorakhpur (b) Jaipur

(c) Mumbai (CST) (d) Mumbai (Churchgate)
Which of the following states has the highest population density ? (As of 2011)
(a) Assam (b) Tripura

(¢) Gujarat (d) Karnataka



